0303 PRACTICE EXAM Solutions

$$\lim_{x\to 0} \frac{e^{2x}-1}{\sin x}$$

1. 
$$\lim_{x\to 0} \frac{e^{2x}}{\sin x}$$
  $\lim_{x\to 0} e^{2x} = 0$  and  $\lim_{x\to 0} \sin x = 0$ 

L'HOPITAL'S RULE

$$= \lim_{x \to 0} \frac{2e^{2x}}{\cos x} = \frac{2}{1} = \boxed{2}$$

Let 
$$y = (2-x)^{\frac{1}{2}x}$$
 Find  $\lim_{x \to 1^{-}} y$ 

$$=\lim_{x\to 1^-}\frac{\ln(z-x)}{\cot(\frac{\pi}{2}x)}\qquad \left\{\frac{0}{0}\right\}$$

$$\left\{\begin{array}{c} \circ \\ \circ \\ \end{array}\right\}$$

$$=\lim_{x\to 1^{-}}\frac{1}{\cot\left(\frac{\pi}{2}x\right)}$$

$$=\lim_{x\to 1^{-}}\frac{1}{-\csc^{2}\left(\frac{\pi}{2}x\right)\cdot\frac{\pi}{2}}=\frac{-1}{-\frac{\pi}{2}}=\frac{2}{\pi}$$

$$=\lim_{x\to 1^{-}}\frac{1}{-\csc^{2}\left(\frac{\pi}{2}x\right)\cdot\frac{\pi}{2}}=\lim_{x\to 1^{-}}\frac{2}{\cot^{2}x}$$

$$=\lim_{x\to 1^{-}}\frac{1}{\cot^{2}x}$$

3. 
$$\lim_{x\to 0} \int_{5}^{5-x} \frac{\sin(t/s)}{2t} ds$$

$$= \lim_{x \to 0} \frac{\sin((s-x)/s)(-1)}{2(s-x)} = \frac{-\sin(1)}{10} = \frac{-\sin(1)}{10}$$

$$-\sin(1)$$
 =  $-\sin(1)$ 

$$4 - \int_{-\frac{t-2}{(t+1)(t-4)}}^{\frac{t}{t-2}} dt = \lim_{b \to 4^{-}} \int_{-\frac{t-2}{(t+1)(t-4)}}^{\frac{t}{t-2}} dt$$

5. 
$$\int_{0}^{2} I_{n \times dx} = \lim_{\alpha \to 0^{+}} \int_{0}^{2} I_{n \times dx}$$

6. 
$$\int \frac{dx}{x^{2/3}} = \lim_{b \to 0^{-2/3}} \int x^{-2/3} dx + \lim_{a \to 0^{+}} \int x^{-2/3} dx$$

7. 
$$\int_{12}^{\infty} 12 \times^{2} f(x) dx = \int_{0}^{\infty} (-3)(-4 \times^{2} f(x)) dx = -3 \int_{0}^{\infty} f'(x) dx$$

$$= -3 \int_{0}^{\infty} \int_{0}^{\infty} f'(x) dx = -3 \int_{0}^{\infty} \int_{0}^{\infty} f(b) - f(1)$$

$$= -3 \int_{0}^{\infty} \int_{0}^{\infty} f(b) + 3 f(1)$$

8. Let 
$$f(x) = \frac{1}{2e^{x}-3}$$
 and  $g(x) = \frac{1}{e^{x}}$ 

$$\lim_{x\to\infty} \frac{f(x)}{g(x)} = \lim_{x\to\infty} \frac{\frac{1}{2e^{x}-3}}{\frac{1}{e^{x}}} = \lim_{x\to\infty} \frac{e^{x}}{2e^{x}-3} \left\{ \frac{e^{x}}{e^{x}} \right\}$$

$$= \lim_{x\to\infty} \frac{e^{x}}{2e^{x}} = \lim_{x\to\infty} \frac{1}{2e^{x}} = \lim_{x\to\infty} \frac{1}{$$

. - I f(x) dx = 
$$\int \frac{1}{2e^{x}-3} dx$$
 converges also by the limit comparison test.

A. 
$$\int x e^{-x^2} dx = -\frac{1}{2} \int e^{u} du = -\frac{1}{2} e^{-x^2} + c$$

$$u = -x^{2}$$

$$du = -2x dx$$

$$dx = \frac{du}{-1}$$

$$\beta \cdot \int_{0}^{\infty} x^{2} e^{-x^{2}} dx = \lim_{k \to \infty} \int_{0}^{\infty} x^{2} e^{-x^{2}} dx = \lim_{k \to \infty} \left[ -\frac{1}{2} \times e^{-x^{2}} \right]_{0}^{\infty} + \lim_{k \to \infty} \int_{0}^{\infty} e^{-x^{2}} dx$$

$$= \lim_{k \to \infty} \int_{0}^{\infty} x^{2} e^{-x^{2}} dx = \lim_{k \to \infty} \int_{0}^{\infty} e^{-x^{2}} dx = \lim_{k \to \infty} \int_{0}^{\infty} e^{-x^{2}} dx$$

$$= \lim_{k \to \infty} \int_{0}^{\infty} x^{2} e^{-x^{2}} dx = \lim_{k \to \infty} \int_{0}^{\infty} e^{-x^{2}} dx = \lim_{k \to \infty} \int_{0}^{\infty} e^{-x^{2}} dx$$

$$= \lim_{k \to \infty} \int_{0}^{\infty} x^{2} e^{-x^{2}} dx = \lim_{k \to \infty} \int_{0}^{\infty} e^{-x^{2}} dx = \lim_{k \to \infty} \int_{0}^{\infty} e^{-x^{2}} dx$$

$$= \lim_{k \to \infty} \int_{0}^{\infty} x^{2} e^{-x^{2}} dx = \lim_{k \to \infty} \int_{0}^{\infty} e^{-x^{2}} dx = \lim_{k \to \infty} \int_{0}^{\infty} e^{-x^{2}} dx$$

$$D \int x^2 e^{-x^2} dx$$

$$u = x \quad dv = x e^{-x^2} dx$$

$$dx = -\frac{1}{2}e^{-x^2}$$

$$\begin{array}{lll}
\boxed{ & \lim_{b \to \infty} b e^{-b^2} & \{\infty, 0\} \\
= & \lim_{b \to \infty} \frac{b}{e^{b^2}} & \{\infty, 0\} \\
= & \lim_{b \to \infty} \frac{b}{e^{b^2}} & = 0 \\
= & \lim_{b \to \infty} \frac{b}{e^{b^2} \cdot 2b} & = 0
\end{array}$$

$$=\lim_{b\to\infty}\frac{1}{e^{b^2}}=0$$

$$=\lim_{b\to\infty}\left[\frac{1}{2}be^{-b^2}-0\right]+\frac{1}{2}\int_0^b e^{-x^2}dx$$

$$= 0 + \frac{1}{2} \wedge \int_{0}^{b} e^{-x^{2}} dx$$

limit as b goes to infinity
$$\frac{1}{2} \frac{\sqrt{\pi}}{2} = \sqrt{\frac{\sqrt{\pi}}{4}}$$

EVAL # 4: 
$$\int \frac{t-2}{(t+1)(t-4)} dt = \int \frac{3}{5} dt + \int \frac{2}{5} dt dt$$

$$\frac{A}{t+1} + \frac{B}{t-4} = \frac{t-L}{(t+1)(t-4)}$$

$$A(t-4) + B(t+1) = t-2$$

$$A = \frac{3}{5}$$

$$B = \frac{z}{5}$$

$$\int_{5}^{3} \left| n \right| t + i \left| + \frac{2}{5} \right| n \left| t - 4 \right| + C$$

$$\int_{(t+1)(t-4)}^{\frac{t-2}{5}} dx = \frac{3}{5} \left| n \right| b + i \left| + \frac{2}{5} \right| n \left| b - 4 \right|$$

$$- \frac{3}{5} \left| n \right| 2 \left| + \frac{2}{5} \left| n \right| 3 \right|$$

THE INTEGRA L DOES NOT EXIST

$$\lim_{n \to \infty} \frac{dv}{dx} = \lim_{n \to \infty} \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} \frac{dv}{dx} = 2\ln(2) - 2 - \lim_{n \to \infty} \int_{-\infty}^{\infty} \frac{dv}{dx} = 2\ln(2) - 2 - \lim_{n \to \infty} \int_{-\infty}^{\infty} \frac{dv}{dx} = 2\ln(2) - 2 - \lim_{n \to \infty} \int_{-\infty}^{\infty} \frac{dv}{dx} = 2\ln(2) - 2 - \lim_{n \to \infty} \int_{-\infty}^{\infty} \frac{dv}{dx} = 2\ln(2) - 2 - \lim_{n \to \infty} \int_{-\infty}^{\infty} \frac{dv}{dx} = 2\ln(2) - 2 - \lim_{n \to \infty} \int_{-\infty}^{\infty} \frac{dv}{dx} = 2\ln(2) - 2 - \lim_{n \to \infty} \int_{-\infty}^{\infty} \frac{dv}{dx} = 2\ln(2) - 2 - \lim_{n \to \infty} \int_{-\infty}^{\infty} \frac{dv}{dx} = 2\ln(2) - 2 - \lim_{n \to \infty} \int_{-\infty}^{\infty} \frac{dv}{dx} = 2\ln(2) - 2 - \lim_{n \to \infty} \int_{-\infty}^{\infty} \frac{dv}{dx} = 2\ln(2) - 2 - \lim_{n \to \infty} \int_{-\infty}^{\infty} \frac{dv}{dx} = 2\ln(2) - 2 - \lim_{n \to \infty} \int_{-\infty}^{\infty} \frac{dv}{dx} = 2\ln(2) - 2 - \lim_{n \to \infty} \int_{-\infty}^{\infty} \frac{dv}{dx} = 2\ln(2) - 2 - \lim_{n \to \infty} \int_{-\infty}^{\infty} \frac{dv}{dx} = 2\ln(2) - 2 - \lim_{n \to \infty} \int_{-\infty}^{\infty} \frac{dv}{dx} = 2\ln(2) - 2 - \lim_{n \to \infty} \int_{-\infty}^{\infty} \frac{dv}{dx} = 2\ln(2) - 2 - \lim_{n \to \infty} \frac{dv}{dx} =$$

$$= \lim_{\alpha \to 0^{+}} \frac{1}{\alpha} = \lim_{\alpha \to 0^{+}} -\infty = 0$$

$$\int_{\chi}^{2\nu_3} dx = \cdots = 3(2)^{1/3}$$

$$\int_{\chi}^{2\nu_3} dx = \cdots = 3$$

$$\int_{\frac{2}{3}}^{\frac{1}{3}} \frac{dx}{x^{2/3}} = \cdots = 3(z) + 3$$